EXAMPLE 1
During the year to 31 March 2010, a company incurred the following expenditure with regard to the development of a new production process:

£000

1 April 2009 to 31 October 2009

230

1 November 2009 to 31 March 2010
410

The criteria for the recognition of an internally generated intangible asset were satisfied as from 1 November 2009. Explain the accounting treatment of the development costs.

Solution

The £230,000 must be written off as an expense in the statement of comprehensive income (IS) for the year to 31 March 2010. The £410,000 must be capitalised and recognised as an intangible asset in the statement of financial position (BS). The £230,000 cannot be reinstated as capital expenditure.

EXAMPLE 2

(a) Company R prepares financial statements to 31 May each year. On 31 May 2009, the company acquired an intangible asset for £50,000. This asset was revalued at £60,000 on 31 May 2010 and at £35,000 on 31 May 2011.

(b) Company S prepares financial statements to 31 March each year. On 31 March 2009, the company acquired an intangible asset for £70,000. The asset was revalued at £55,000 on 31 March 2010 and at £75,000 on 31 March 2011.
(c) Company T prepares financial statements to 30 April each year. On 30 April 2010, the company disposed of an intangible asset that had been acquired some years ago and which had been revalued since acquisition. The company’s revaluation reserve at 30 April 2010 included a £100,000 revaluation gain in relation to this asset.

Assuming that all three companies use the revaluation mode!, explain how each of the above transactions should be dealt with in the financial statements. Ignore amortisation.

Solution

(a) The £10.000 revaluation increase on 31 May 2010 should be credited to a revaluation reserve (BS, equity).

£10,000 of the £25,000 decrease on 31 May 2011 should be debited to revaluation reserve. The remaining £15,000 should be recognised as an expense.

(b) The £15,000 revaluation decrease on 31 March 2010 should be recognised as an expense (IS).


£15,000 of the £20,000 increase on 31 March 2011 should be recognised as income (revenue, IS). The remaining £ 5,000 should be credited to a revaluation reserve (equity, BS).
(c) £100,000 may be transferred from revaluation reserve to retained earnings. This transfer should be shown in the statement of changes in equity.

